4F10a - Solve problems involving increasingly harder fractions to calculate quantities, and fractions to divide quantities,
including non-unit fractions where the answer is a whole number
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A school has 200 pupils.
Four tenths of the pupils go on a trip.
How many children are left in school?

A box of chocolates contains 24 chocolates.
Bradley eats three quarters of the chocolates.
How many chocolates are left?
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What is the missing fraction?
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The BICG School Band

Facts

* 100 children in the band

. 170 play recorders
13 :
* 300 play guitars

* The rest play drums

How many children play drums?




